EARAROBEEIERT — 2 N— IBISH —F

2018F12A1H (&) sEAFWLTH

mﬁfﬁﬂ"é‘ 5008 F #2%2m% (GBRA) (38 E& ‘ (Xfg] B ‘ [REmshE] — |2 (&) 20000 B
[A&4] 1 7 10,000,000 § 2 7% :4,000,000 § 3 3#&:2,500,000 4 3% :1,500,000 3 5 & :1,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . AHEEE :59. —12-8~ . . BHEC (/)
1 gl¥—r7Lv 3> 4 2 e R 1(5_9)6 12-12-8-6 | 34.5| 90.7 | 7 (i?g) Pt
Rdoh—v B:Hh—-LTya—L J—HrTy—LA
— . 5 5 J. ELAF 159, 55 . . BERAIME (3£54)
olslg|7>7rO—€2 o2 50 = 1(519)8 5-5-5-6 | 35.2| 88.8 | 1 éis) LS
R:FTHXANXN BTRRNT =T J—HrIr—L
= = i o2 | ZHE2 1:59.8 7-7-5-3 | 35.1] 88.7 | 6 494 | ERRR (E)
31711 Y/ FF714TX 55.0 (7E) (42) | ) ¥ EIR—2H =
R:F4—=TA4>N0 8 B:7—"TJz4 HET7—L4L
N . 4 o2 | ALREF 1:59.8 13-13-13-13| 34.1 | 88.5 | 8 430 | BAIE ()
4)8l13 FEY NI AHL 55.0 (742%) ) | (A) KEHEH
L—F—2y 7 By XY 707 J =Y Ty —L
. . o2 | W Eafvy 2:00.1 2-2-3-3 |35.6| 8.8 | 3 500 | AEIRER (i)
sl o | PIV-—RTI—2 55.0 ® Gia) | B) #rT—L-viy
RWN—=5—=297T BT7AXT4-=UZX (B) HBEaA—-KL—ya3>aE77
5 2 | xS 2:00.1 7-7-8-10 | 35.0| 85.6 | 10 | 438 |FBR (EX)
6l1|1]| VBTN 54.0 (75%) o | AL
R:IAY>TFyva B:AZREFIECR me =A
i s ! 4 o2 | EBE 2:00.1 5-5-7-6 |35.3| 85.7 | 5 464 | EEERE— (FH)
7 3|Jrrr kI 55.0 (NF) (1g) | EEEM
LN=F—=29T BT Tq4—Ya FiE =T
s 7 55 4 2 | FlBEKX 2:00. 2-2-2-2 [35.9| 84.9 | 2 496 | ERER ()
88|12 FAYZ 55.0 (7€) (6) | ETRAF—NF (2T (H)
T4 —=TA2N7 b B:IXINXHY J =Y Ty —L
< KEFRTR :00. -10-11- . . REESA (Em)
9 4|7 hIvT TR 280 2(,(\](;)2 1071011710 348 8451 9 :ﬁ; Zme
R:T—=U74+—X B2y X Iba— HEBE77— L4
— o o R E AR :00. -10-8- . . AREE (E#
0 5| 74 TAKYRY o2 B 2(020)5 10-10-8-9 | 35.4 | 81.5 | 13 (4_4‘;4) ﬁ@%ﬁ
R:ibh—trkwLEY B:idrpYi— i HR
S s 2 | AKWEGH 2:00.9 9-9-11-10 | 85.6 | 77.5 | 11 432 | FEEE (5
1|5/ 7| YV /227 54.0 21/2) o | W 775>
T4 >T7Fyoa BIIICTITIR A=Y e ]
4 2 | HIDAE 2:00.9 4-4-3-3 |36.5| 78.2 | 4 494 | #AKERR (RR)
EH g|7LX¥AL 55.0 Fa=) +5) BRAH LY
LTIy 84K B:5T0>hLAL J—H Ty — I
5 42 | HEKXH 2:01.5 1-1-1-1 | 37.2| 73.1 | 12 | 470 |BEH— (EH)
13[7|10| YT RV IXFA b 55.0 (31/2) (+4) (ﬁ) YTy KI5T 5747
R:TF9084K B:714>54Y WA HiE
@ 71 L
) 47.4-35.3
NA> 24 L | 12.5-11.1-12.0-12.2-12.3-12.1-12.1-11.9-11.4-12.0
® I —F—@EBIERL
13=7r= 10(2,12)9(3,6)-(1,11)7(4,5)8-13
20—+ — 10(2,12)9(3,6)-(1,11)-7(4,5)-8-13
3a0—4— (¥10,12) (2,9) (6,11)3(1,5,8) (7,4)-13
40—F— (¥10,12) (2,9,11) (3,6,8)5(1,7,4)13
[ RN
B OB 8 2,180 714K 6-8 760M e & 5-6 850M &R 6-8-11 8,440
8 B 8 360M 8-11 2,790 B & 6-8 2,300 3B 8-6-11 76,860
6 130M4 6-11 640M B H 8-6 6,440M
1 360M

ABICOVWTRDTEEERROODE. TR LIV,




